Самостоятельная работа
I вариант
1. Выполните сложение:
а) – 379 + 948;     б) – 0,81 + 0,66;    
 в) – 5 + (-2);       г)  + ( - ).
2. Найдите значение выражения:
- 3,8 +а, если а = - 4,75; а = 2; а = 24.
3. Выполните действие: (-  +) + (- 0,45).






Самостоятельная работа
II вариант
1. Выполните сложение:
а) – 543 + 458;     б) – 0,54 + (- 0,83);     
в)  (-2)+3;            г)  + ( - ).
2. Найдите значение выражения:
х+2,6 если х = - 1,47; х = - 3; х = - 18.
3. Выполните действие: (-  + ) + (- 0,35).



